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NIRRT R Ry = 228 Q i 2Bl 2 4L 3700 Gs/A

Is/mA  Igs:/mA  Vgi/mV  Vygo/mV  Vgs/mV  Vyy/mV  avg/mV
1.00 0.97 1.57 -1.55 1.91 -1.90 1.7325
1.50 1.47 -2.80 2.82 -2.28 2.31 2.5525
2.00 1.98 -3.01 3.72 3.03 -3.02 3.1950
2.50 2.48 -3.76 3.76 -4.60 4.62 4.1850
3.00 2.96 5.49 -5.46 4.47 -4.45 4.9675
3.50 3.46 -5.20 5.22 -6.38 6.38 5.7950
4.00 3.97 7.29 -7.27 5.96 -5.93 6.6125
4.50 4.47 -6.68 6.69 -8.18 8.20 7.4375
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st [ i Ry 1B * 3700 x 10* x 0.45 X s
In/A  Inps: /A Vg /mV Vga/mV Vyz/mV Vgy/mV  avg/mV
0.100  0.1002 -2.53 2.54 -1.02 1.03 1.7800
0.150 0.1501 1.91 1.89 3.41 -3.42 2.6575
0.200 0.2003 -4.30 4.32 -2.81 2.82 3.5625
0.250  0.2500 3.70 -3.68 5.26 -5.25 4.4725
0.300 0.3002 -6.13 6.15 -4.70 4.72 5.425
0.350 0.3501 5.62 -5.60 7.22 -7.21 6.4125
0.400 0.4001 -8.12 8.13 -6.67 6.69 7.4025
0.450  0.4500 7.62 -7.59 9.16 -9.14 8.3775
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pw=0cRg =6.578 x 5.5192 = 0.0363

5.2 PUREIEEAL R

/A Inyg /A Vy/Vo 0400 04001 0.2341
0.000 0.0010 0.0040 0.450 0.4500 0.2453
0.050 0.0503 0.0435 0.500 0.4999 0.2559
0.100  0.1002 0.0847 0.550 0.5498 0.2667
0.150 0.1500 0.1227  0.600 0.6000 0.2775
0200 0.2000 0.1577 0.650 0.6499 0.2884
0250 0.2502 0.1861 0.700 0.6998 0.2995
0.300 0.3001 0.2050 0.750 0.7497 0.3103
0.350 0.3500 0.2199 0.800 0.7998 0.3205
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